METG-4 5H8R~F

Nr-RAN S S _ hay = =] 3 .
BB EBENEL —ARIVIZIRERE) ( A EE ) mindman
| BC | L
X +
‘%éﬁ%n SRR | IE5EES 134 HdTiE 80 T e A
7941 | 2-03H7x4.5 % | 25+1
Zo3H7x45 B
42.6
35
1
M 8 C-C i
44
R A 89 Mx100 _ A 50 | |
B Al 5 . ‘ N-M4x10 % +034 F | B | 0 ET’
s .l |
| Y Y [ ;’I‘ Zin P w
A 2-p4H7x5 & —C 2174003 22
i 89 | 100£0.02 P |
A7 : mm
(s 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800
L 264 | 314 | 364 | 414 | 464 | 514 | 564 | 614 | 664 | 714 | 764 | 814 | 864 | 914 | 964 | 1014
A 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75
M 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8
N 6 6 8 8 [ 10| 10| 12 | 12| 14 | 14 | 16 | 16 [ 18 | 18 | 20 | 20
P 25 | 75 | 125 | 175 | 225 | 275 | 325 | 375 | 425 | 475 | 525 | 575 | 625 | 675 | 725 | 775
i (kg)| 1.36 [ 1.61 [ 1.86 | 211 [ 2.35 | 26 | 2.85 | 3.1 | 3.34 | 359 | 3.84 | 4.09 | 4.34 | 459 | 4.84 | 5.09
L
HEEEE 116 HRATE 80 W R
m AR 9 2641
. 611 a0 ] 2-93H7x4.5 %
FETH =
RN M ,7,7,7,77
4-M4x9.5 I ‘
—
==
P g —
| C-C I
N-M4x10 ¥ +93.4 Eii
171 Mx100 A _ 50 ‘ 44 |
- @4HT*5 ¥ _c { j
B F¥A = ¥
A 5 | = —_————— = ol < 5 !
T { Y ry |‘r| HEHEIH [ :Et:
‘ 171 P B/ [C 2174003 22
i F AR TR 126mm Py -
FAL . mm
1718 50 | 100 | 150 [ 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800
L 246 | 296 | 346 | 396 | 446 | 496 | 546 | 596 | 646 | 696 | 746 | 796 | 846 | 896 | 946 | 996
A 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75
M 0 0 1 1 2 2 3 3 4 4 5 5 6 6 7 7
N 4 4 6 6 8 8 | 10 | 10 | 12 | 12 | 15 | 14 | 16 | 16 | 18 | 18
P 25 | 75 | 125 | 175 | 225 | 275 | 325 | 375 | 425 | 475 | 525 | 575 | 625 | 675 | 725 | 775
ik (kg)| 1.66 [ 1.91 [ 216 | 2.4 [ 265 | 2.9 | 314 [ 3.39 | 364 | 3.89 | 4.14 | 439 | 4.64 | 489 | 5.14 | 5.39
* RS NHTIRG  EDE A E  BUEED EER ERAI - EEEREE PIN £L > A KA BAR -

M mindman

4-26



METG-4 5H8R~F

Nr-RAN S S _ hay = =] 3 .
BB EBENEL —ARIVIZIRERE) ( B EE ) mindman
| BL | L
B LR |3 —
R/ SRR | Y735 116 R I -
6121 \
9 25+1
40 2-3H7x4.5 % -
e ——mm)
e}
@ gg 4-M4x9.5
426
98.5 35
HligE= 7 JiTe
AT .
71 Mx100 A .50 C-C Hiia
B & - L4
nrj N-M4x10 % +3.4 £l B T i
5 . AN =C ‘ E]
= e
Iy els wwni | Pl
A 2-p4HT7x5 ¥ —C 21.7£0.03 22
ES 71| 100:0.02 P ‘
<
BT mm
1712 50 | 100 [ 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800
L 246 | 296 | 346 | 396 | 446 | 496 | 546 | 506 | 646 | 696 | 746 | 796 | 846 | 896 | 946 | 996
A 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 [ 75 | 25 | 75 [ 25 | 75 | 25 | 75
M 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8
N 6 6 8 8 | 10| 10| 12|12 ] 14| 14| 16| 16 [ 18 | 18 | 20 | 20
P 25 | 75 | 125 | 175 | 225 | 275 | 325 | 375 | 425 | 475 | 525 | 575 | 625 | 675 | 725 | 775
Tk (kg)| 1.66 [ 1.91 | 216 | 2.4 | 265 | 2.9 | 3.14 | 339 | 364 | 3.89 | 4.14 | 430 | 4.64 | 4.89 | 5.14 | 5.39
2-03H7x4.5
| BR J (=D
= ST ——— |
AT B R
ﬁﬁ%w@ﬁﬂ 40 4-M4x9.5 ¥ | 25+1
6121 90
985 Y5 116 ﬁ?ﬁﬁ 80
- == =T
C-C i
44
71 Mx100 A _ 50 | \
N-M4x10 % +03.4 il | B }»c ‘ 4
B 4 . — |
R ——————— =G |
*Q* T 2-04HT7x5 —cC 2172003 22
A 71 | 100£0.02 P
;l‘
FA7  mm
1712 50 | 100 [ 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800
L 246 | 296 | 346 | 396 | 446 | 496 | 546 | 596 | 646 | 696 | 746 | 796 | 846 | 896 | 946 | 996
A 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 [ 25 | 75 | 25 | 75
M 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8
N 6 6 8 8 | 10| 10 | 12|12 ] 14| 14| 16| 16 [ 18 | 18 | 20 | 20
P 25 | 75 | 125 | 175 | 225 | 275 | 325 | 375 | 425 | 475 | 525 | 575 | 625 | 675 | 725 | 775
i (kg)| 1.66 | 1.91 | 216 | 2.4 [ 265 | 2.9 | 3.14 | 3.39 | 3.64 | 3.89 [ 4.14 [ 439 | 464 | 4.89 | 5.14 | 5.39

M mindman

4-27

=

IO o St




	3_外觀尺寸
	4_外觀尺寸

